(RN
<

a(6 @) (rad)

107

3

-2 -1 0 1 2 3
TP n (PCA to beamline)

a(d cot(B))

|

H+++-+*+++§+++}+++++*§+++*++++++§++++++++++§H& -

-1

0 1 2 3
TP n (PCA to beamline)

—=— DQM_TT__mkFit-DQM_original

—— DQM_TT__mkFit-DQM_original_newwindows

aoa, ) (cm)

1072

FRVe)

Ratio

A
H b
0.95 . . .

. +: e

=3

-2 -1 0 1 2 3
TP n (PCA to beamline)

Ratio

103

o

. ﬂ* H’# *ﬂ#ﬂ&mmﬂ# ++t+#fﬂ;+.+++?ﬂ+++;;+§+.+

0.95

20 T 723
TP n (PCA to beamline)

z

o(d d.) (cm)

: |H+H+++*+++*+++++++++++++++++++++++++H+H\“

-2

-1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


